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1. Converting atoms or syntax trees into instructions is the primary objective of 
___________

code generator

2. A strategy for doing top-down parsing is called ________

recursive descent

3. A method of representing sets of strings is called

regular expression

4. Intuition and formal are two (2) methods for generating

relationship between operators

5. Identifier not declared is one of the most common errors reported during

semantic analysis

6. A/An ________ is an Internal representation of declaration.

attribute

7. The information needed during execusion of a procedure is kept in a block of storage 
called

activation record

8. Parenthesis are used around regular expressions (REs) to denote

order of evaluation

9. A sequence of statements pf the general form X: = Y OP Z is called

three-address code

10. Context free grammar is sometimes referred to a _________

Backus-Naur Form
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